

Общий балл	Дата	Ф.И.О. Жюри	Подпись
15	№03.	Хмелева	

4/5/2

Шифр 0421/4

Шифр

C42174

лиминиада

12	34	5	7	2
1	1	1	1	1
1	1	1	1	1

155

$$\begin{aligned}x^2 + y^2 &= \frac{10}{3}xy \\x^2 + y^2 &= 2xy + \frac{4}{3}xy \\x^2 - 2xy + y^2 &= \frac{4}{3}xy \\(x-y)^2 &= \frac{4}{3}xy \\x-y &= \sqrt{\frac{4}{3}xy} \\x-y &= 2\sqrt{\frac{1}{3}xy}\end{aligned}$$

$$\begin{aligned}x^2 + y^2 &= \frac{10}{3}xy \\(x+y)^2 - 2xy &= \frac{10}{3}xy \\(x+y)^2 &= \frac{10}{3}xy + 2xy \\(x+y)^2 &= \frac{16}{3}xy \\x+y &= \sqrt{\frac{16}{3}xy} \\x+y &= 4\sqrt{\frac{1}{3}xy}\end{aligned}$$

$$\frac{x+y}{x-y} = \frac{2\sqrt{\frac{7}{3}}x_2}{2\sqrt{\frac{7}{3}}x_2} = \frac{2}{2} = 2$$

$$\begin{aligned} & \text{N2} \\ & a^2 + b^2 + c^2 \geq 1 \\ & (a+b)^2 - 2ab + c^2 \geq 1 \\ & (a+b+c)^2 - 2ab + 2c(a+b) \geq 1 \\ & (a+b+c)^2 - 2ab + 2ac + 2cb \geq 1 \end{aligned}$$

$$(a^2 + b - c)^2 - 2ab + 2ac + 2cb \geq 21$$

$$\begin{array}{ccc} \uparrow & \uparrow & \uparrow \\ \frac{2 \cdot 2 \cdot 12}{6} & \frac{2 \cdot 2 \cdot 13}{6} & \frac{2 \cdot 2 \cdot 3}{12} \end{array}$$

$$(a+b-c)^2 \geq 7$$

$$a+b-c \geq \sqrt{7}$$

$$\uparrow \qquad \qquad \nwarrow$$

$$\geq 3 \qquad \qquad > 2 \text{ and } < 3$$

$$\begin{aligned} a + 6 &> 2 \\ a + 6 &> 2 + 6 \\ a + 6 &> 2 + 3 \\ a + 6 &> 5 \end{aligned}$$

РАСМОТРИМ

$\underbrace{a+b}_{\geq 5} + c \geq 3 \Rightarrow a+b+c \geq 8$ что противоречит $a+b+c \geq 7$
Итого $\checkmark$

$$1 + \frac{2}{n} - \frac{2}{n^3} - \frac{1}{n^6} = \frac{2}{n} \left(1 - \frac{1}{n^2}\right) + \left(1 - \frac{1}{n^6}\right) = \frac{2}{n} \left(1 - \frac{1}{n^2}\right) + \left(1 - \frac{1}{n^2}\right) \left(1 + \frac{1}{n^2}\right) = \left(1 - \frac{1}{n^2}\right) \left(1 + \frac{2}{n} + \frac{1}{n^2}\right) = \left(1 - \frac{1}{n}\right) \left(1 + \frac{1}{n}\right) \left(1 + \frac{1}{n}\right) = \left(1 - \frac{1}{n}\right) \left(1 + \frac{1}{n}\right)^2$$

$$\left(\frac{n-1}{n}\right)\left(\frac{n+1}{n}\right)^3 = \frac{(n-1)(n+1)^3}{n^4}$$

T.K. $a_2, a_3, \dots, a_{99}$ mo $NE[2; 99]$

$$\text{Total A: } \frac{(n-1)(n+1)^3}{n^4} = \frac{(99-1)! \cdot (99+1)!^3}{(99!)^4} = \frac{98! \cdot 100! \cdot 100! \cdot 100!}{99!} = \frac{(99-1)! \cdot \frac{(99+1)!}{2}}{99!}$$

$$= \frac{98! \cdot 100! \cdot 100! \cdot 100!}{99! \cdot 99! \cdot 99! \cdot 99! \cdot 2 \cdot 2 \cdot 2} = \frac{100 \cdot 100 \cdot 100}{99 \cdot 2 \cdot 2 \cdot 2} = \frac{50^3}{99} = \frac{125000}{99} = 1252 \frac{62}{99}$$